021524R

Installation Instruction Sheet

KWL-612, SKWL-614 (BACK), KBL-612, SKBL-614 (END),
KCL-612, SKCL-614 (CEILING) & KML-612, SKML-614 (MULLION) SINGLE FACE

KCLD-612, SKCLD-614 (CEILING) & KBLD-612, SKBLD-614 (END) DOUBLE FACE
TRADITIONAL EDGELIGHTED SERIES

8-32X1-1/2" 5.5. FAN
FAN PH. HD. M/SCREW

HOUSING/LED COVER

8-32 X 3/4" BLACK OXIDE
FAN PH. HD. M/SCREW

J-BOX W/ PLASTER
RING (BY OTHERS)

LED CHANNEL

6-32 X 3/8" BLACK OXIDE
FLAT PH. HD. M/SCREW .

BRACKET MOUNT

NYLON SFACERS
HOUSING ASSEMBLY

8-32 HEX NUTS

e

6-32 X 3/4" BLACK OXIDE/

FAN PH. HD. M/SCREW &
HEX ACORN NUT

ACRYLIC FPANEL W/ BLACK X 5 0.0, o o
BACK FANEL
NIVERSAL MTG. FLATE
INSTRUCTION STEPS:j\ RO TG P

1.) Turn off electrical power supplied to fixture.

2.) Use provided (2) 8-32 X 3/8" black oxide flat head phillips m/screw to attach (from inside
housing) bracket mount to housing assembly (back mounting bracket shown).

3.) Make wire connections from led assembly through bracket mount and into j-box
(j-box by others).

4.) Use provided (2) 6-32 X 3/8" black oxide flat phillips head m/screw to attach led channel
assembly into housing assembly.

5.) Mount assembled fixture to wall (or ceiling) & j-box with plaster ring (if not using
plaster ring, use univ. mtg. plate supplied by Cole) using provided (2) 8-32 X 3/4" black
oxide pan phillips head m/screw (j-box w/ plaster ring by others).

6.) Attach acrylic panel with black back panel into bottom opening of housing assembly with
provided (2) 6-32 X 3/4" black oxide pan phillips head m/screw & hex acorn nuts.

8-32 X 3/8" BLACK
w OXIDE PAN PH. HD.
M/SCREW

NOTE:

*THIS PRODUCT MUST BE INSTALLED IN ACCORDANCE WITH THE APPLICABLE INSTALLATION
CODE BY A PERSON FAMILIAR WITH THE CONSTRUCTION AND OPERATION OF THE PRODUCT
AND THE HAZARDS INVOLVED.

*CONTACT WITH ACID-WASH OF ANY TYPE TO ANY SURFACE OF FIXTURE WILL/MAY VOID
WARRANTY.

2560 Rosemead Blvd. So. El Monte, CA 91733 « (626) 443-2473 « Fax: (626) 443-9253 COLEM




